National Testing Agency

Question Paper Name :

Subject Name :
Creation Date :
Duration :
Total Marks :
Display Marks:

B Ed Humanities and Social Sciences Eng 12th
June 2023 Shift 1

B Ed Humanities and Social Sciences Eng
2023-06-12 13:16:38

120

400

Yes

B Ed Humanities and Social Sciences

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Examiner permission :
Show Progress Bar? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear

Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

Part A

1
920906130
0

120

No

No

0

400

No

Cant View
No

920906259
1

Online
Mandatory
21

21

100

Yes

0

1
920906425
No

null



Question Id : 92090613064 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension

Two Indiana on finals in final list of Rs 2Cr global nursing award

NAOMI CANTON

London: Shanti Teresa Lakra, a nurse working with primitive tribes in the
Andaman and Nicobar Islands, and Kerala-born Jincy Jerry from Ireland are among
honouring nursing staff worldwide. Lakra from GB Pant Hospital in Port Blair was
awarded the Padma Shri in 2011 for her incredible service to the tribal community of
Andaman and Nicobar — gaining their trust over the year, overcoming the language
barrier and providing medical assistance whenever they needed it.

Lakra and Jerry, the assistant director of nursing for infection prevention
and control at Mater Misericordiae University Hospital in Dublin, were selected from
52,000 entries sent by 202 countries for the Aster Guardians Global Nursing Award
2023, which carries a prize-money of more than Rs. 2Crore. The finalists will be
evaluated by a judging panel and the result declared at a ceremony in London on
may 12, coinciding with International Nurses Day. As many as 13,156 nurses
applied from India in the second editions of the award.

“My whole world belongs to the tribes-folk living in a very interior and

isolated part of Andaman and Nicobar,” Lakra said. When the 2004 tsunami his the
island of the Onge tribe and drove them deep into the jungle, she made her home
with them and lived in an open tent. She recalled assisting an Onge teenager deliver
a premature baby weighing less than a kilo on the night of the tsunami. Lakra said
if she wins the award, she will use the cash to create an NGO to provide healthcare
to the endangered native islanders. Lakra, born in Rangat on Middle Anadaman
Island, also wants to fund Onge yvoungsters wishing to train as nurses.
Jerry, who moved to Dublin in 2006 after training as a nurse Delhi’s Jamia
Hamadard, was nominated for a robotic system she introduced in her Dublin hospital
in March 2020. Inspired by the banking sector, it has drastically reduced the
administrative work of nurses, eliminating human error, allowing nurses to spend
more time with patients and improving job satisfaction and staff retention.

Sub questions

Question Number : 1 Question Id : 92090613065 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Antonym of the word barrier is

(1) Fence (2) Opening
(3 Obstacle (4) Barren
Options :

92090651601. 1



92090651602. 2
92090651603. 3
92090651604. 4

Question Number : 2 Question Id : 92090613066 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Meaning of the word Primitive:

(1) Earliest ancestor (2) Substance for priming something
(3 Earliest times in history (4) primipara
Options :

92090651605. 1
92090651606. 2
92090651607. 3
92090651608. 4

Question Number : 3 Question Id : 92090613067 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“Nurses day” is celebrated internationally on:

(1) 12th April (2) 12th May
(3) 2rd Wednesday of May (4) March last friday
Options :

92090651609. 1
92090651610. 2
92090651611. 3
92090651612. 4

Question Number : 4 Question Id : 92090613068 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Why Shanti Teresa Lakra was in news?

(A) She is working with primitive tribes in the Lakshyvadeep Island.
(B) She won Padmashri award in 2021.
(C) She was a finalist for the Aster Guardians (Global Nursing Award 2023.

(D) She assisted 1in delivery of a premature baby on the night of the tsunami.

Choose the correct answer from the options given below :

(1) (C) only

(2) (A) and ()
(3)  (B)and (C)
(4)  (B) and (D)

Options :

92090651613. 1
92090651614. 2
92090651615. 3
92090651616. 4

Question Number : 5 Question Id : 92090613069 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Primitive tribes in this passage refers to:

(1)  Old tribes of Andaman
(2) Onge tribe
(3)  Tribe folk living in very interior and isolated part of Andaman and Nicobar
(4) MNatives of Rangat on middle Andaman Island.
Options :
92090651617. 1
92090651618. 2

92090651619. 3
92090651620. 4

Question Id : 92090613064 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



Two Indiana on finals in final list of Rs 2Cr global nursing award

NAOMI CANTON

London: Shanti Teresa Lakra, a nurse working with primitive tribes in the
Andaman and Nicobar Islands, and Kerala-born Jincy Jerry from Ireland are among
honouring nursing staff worldwide. Lakra from GB Pant Hospital in Port Blair was
awarded the Padma Shri in 2011 for her incredible service to the tribal community of
Andaman and Nicobar — gaining their trust over the year, overcoming the language
barrier and providing medical assistance whenever they needed it.

Lakra and Jerry, the assistant director of nursing for infection prevention
and control at Mater Misericordiae University Hospital in Dublin, were selected from
52,000 entries sent by 202 countries for the Aster Guardians Global Nursing Award
2023, which carries a prize-money of more than Rs. 2Crore. The finalists will be
evaluated by a judging panel and the result declared at a ceremony in London on
may 12, coinciding with International Nurses Day. As many as 13,156 nurses
applied from India in the second editions of the award.

“My whole world belongs to the tribes-folk living in a very interior and

1solated part of Andaman and Nicobar,” Lakra said. When the 2004 tsunami his the
island of the Onge tribe and drove them deep into the jungle, she made her home
with them and lived in an open tent. She recalled assisting an Onge teenager deliver
a premature baby weighing less than a kilo on the night of the tsunami. Lakra said
if she wins the award, she will use the cash to create an NGO to provide healthecare
to the endangered native islanders. Lakra, born in Rangat on Middle Anadaman
Island, also wants to fund Onge voungsters wishing to train as nurses.
Jerry, who moved to Dublin in 2006 after traiming as a nurse Delhi’s Jamia
Hamadard, was nominated for a robotic system she introduced in her Dublin hospital
in March 2020. Inspired by the banking sector, it has drastically reduced the
administrative work of nurses, eliminating human error, allowing nurses to spend
more time with patients and improving job satisfaction and staff retention.

Sub questions

Question Number : 1 Question Id : 92090613065 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Antonym of the word barrier is

(1) Fence (2) Opening
(3) Obstacle (4) Barren
Options :

92090651601. 1
92090651602. 2
92090651603. 3
92090651604. 4



Question Number : 2 Question Id : 92090613066 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Meaning of the word Primitive:

(1) Earliest ancestor (2) Substance for priming something
(3 Earliest times in history (4) primipara
Options :

92090651605. 1
92090651606. 2
92090651607. 3
92090651608. 4

Question Number : 3 Question Id : 92090613067 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“Nurses day” is celebrated internationally on:

(1) 12th April (2) 12th May
(3) 2rd Wednesday of May (4) March last friday
Options :

92090651609. 1
92090651610. 2
92090651611. 3
92090651612. 4

Question Number : 4 Question Id : 92090613068 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Why Shanti Teresa Lakra was in news?

(A) She is working with primitive tribes in the Lakshyvadeep Island.
(B) She won Padmashri award in 2021.
(C) She was a finalist for the Aster Guardians (Global Nursing Award 2023.

(D) She assisted 1in delivery of a premature baby on the night of the tsunami.

Choose the correct answer from the options given below :

(1) (C) only
(2) (A)and (C)
(3)  (B)and (C)
(4) (B)and (D)
Options :
92090651613. 1
92090651614. 2

92090651615. 3
92090651616. 4

Question Number : 5 Question Id : 92090613069 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Primitive tribes in this passage refers to:

(1)  Old tribes of Andaman
(2) Onge tribe
(3)  Tribe folk living in very interior and isolated part of Andaman and Nicobar
(4) MNatives of Rangat on middle Andaman Island.
Options :
92090651617. 1
92090651618. 2

92090651619. 3
92090651620. 4

Sub-Section Number : 2
Sub-Section Id : 920906426
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 92090613070 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fill in the blank with suitable word from the options given below:

The lion 1s at and has brought havoe in this area.

(1) Bay (2) Sea

(3) Open (4) Large
Options :

92090651621. 1
92090651622. 2
92090651623. 3
92090651624. 4

Question Number : 6 Question Id : 92090613070 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blank with suitable word from the options given below:

The lion is at and has brought havoe in this area.

(1) Bay (2) Sea

(3) Open (4) Large
Options :

92090651621. 1
92090651622. 2
92090651623. 3
92090651624. 4

Question Number : 7 Question Id : 92090613071 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the appropriate one word substitute for:

A study, analysis and collection of currency and especially coins used throughout
history.

(1) Ornithology (2) Philology
(3) Philately (4) Numismatics
Options :

92090651625. 1
92090651626. 2
92090651627. 3
92090651628. 4



Question Number : 7 Question Id : 92090613071 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the appropriate one word substitute for:

A study, analysis and collection of currency and especially coins used throughout
history.

(1) Ornithology (2) Philology
(3) Philately (4) Numismatics
Options :

92090651625. 1
92090651626. 2
92090651627. 3
92090651628. 4

Question Number : 8 Question Id : 92090613072 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate preposition from the options given below:

Degradation of a body water a substance or condition such a degree
that the water fails _ meet specific purpose.
(1) of, by, to, to (2) for, to, of. to
(3) of, to, by, for (4) of, from, in, to
Options :

92090651629. 1
92090651630. 2
92090651631. 3
92090651632. 4

Question Number : 8 Question Id : 92090613072 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fill in the blanks with appropriate preposition from the options given below:

Degradation of a body water a substance or condition such a degree
that the water fails _ meet specific purpose.
(1) of, by, to, to (2) for, to, of, to
(3) of, to, by, for (4) of, from, in, to
Options :

92090651629. 1
92090651630. 2
92090651631. 3
92090651632. 4

Question Number : 9 Question Id : 92090613073 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Synonym of the word “ALMS" is:

(1) Blessings (2) Prayers
(3) Worship (4) Charity
Options :

92090651633. 1
92090651634. 2
92090651635. 3
92090651636. 4

Question Number : 9 Question Id : 92090613073 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Synonym of the word “ALMS" 1s:

(1) Blessings (2) Prayers
(3) Worship (4) Charity
Options :

92090651633. 1
92090651634. 2
92090651635. 3
92090651636. 4

Question Number : 10 Question Id : 92090613074 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Correct the underlined phrase and choose appropriate option to replace it.

Primitive man believing that a erime ereated in imbalance which could be rectified
only by punishing the wrongdoer.

(1) Believed that a erime creats (2) Believes that a erime created
(3) Believed that a erime created (1) Believed that a eriminal ereated
Options :

92090651637 1
92090651638. 2
92090651639. 3
92090651640. 4

Question Number : 10 Question Id : 92090613074 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Correct the underlined phrase and choose appropriate option to replace it.

Primitive man believing that a crime created in imbalance which could be rectified
only by punishing the wrongdoer.

(1) Believed that a erime creats (2) Believes that a crime ereated
(3) Believed that a erime created {4) Believed that a eriminal created
Options :

92090651637. 1
92090651638. 2
92090651639. 3
92090651640. 4

Question Number : 11 Question Id : 92090613075 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2
The surface area of a sphere of radius Tem 1s: (Taken = %)

(1) 4158 em? (2) 540 cm?
(3) 616 cm? (4) 280 cm?
Options :

92090651641. 1
92090651642. 2
92090651643. 3



92090651644. 4

Question Number : 11 Question Id : 92090613075 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2
The surface area of a sphere of radius Tem 1s: (Taken = % )

(1) 4158 cm? (2) 540 cm?
(3) 616 em? (4) 280 cm?
Options :

92090651641. 1
92090651642. 2
92090651643. 3
92090651644. 4

Question Number : 12 Question Id : 92090613076 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the value of *?" in the following

784+ 14 + 598 + 13 + ? = 99 % of 2500

(1) 2475 (2) 2373
(3) 2565 (4) 2285
Options :

92090651645. 1
92090651646. 2
92090651647. 3
92090651648. 4

Question Number : 12 Question Id : 92090613076 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find the value of *?’ in the following
784+ 14 + 598 + 13 + ? = 99 % of 2500

(1) 4
(3) 256

2]

Lr s
i

=

(2) 2373
(4) 2285

L

on

Options :



92090651645. 1
92090651646. 2
92090651647. 3
92090651648. 4

Question Number : 13 Question Id : 92090613077 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

During festival sale, a shop offered 10% discount on all items. What would a customer
have to pay on purchase of a jacket marked at #1450 and two shirts marked at ¥850
each?

(1) 22735 (2) 2835
(3) 3150 (4) T2935
Options :

92090651649. 1
92090651650. 2
92090651651. 3
92090651652. 4

Question Number : 13 Question Id : 92090613077 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

During festival sale, a shop offered 10% discount on all items. What would a customer
have to pay on purchase of a jacket marked at 1450 and two shirts marked at ¥850
each?

(1) 2735 (2) %2835
(3) 3150 (4) T2935
Options :

92090651649. 1
92090651650. 2
92090651651. 3
92090651652. 4

Question Number : 14 Question Id : 92090613078 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A car covers 20km in 12 minutes. If its speed is reduced by 20km/hr, then time taken
to cover the same distance will be

I

|
(1) E hour (2) E hour
(3) z ho (1) ; hour
+ = our i == L1
3 4
Options :

92090651653. 1
92090651654. 2
92090651655. 3
92090651656. 4

Question Number : 14 Question Id : 92090613078 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A car covers 20km in 12 minutes. If its speed 1s reduced by 20km/hr, then time taken
to cover the same distance will be

I

|
(1) 3 hour (2) 2 hour
@ = ho G g
t 3 Our 4 11
Options :

92090651653. 1
92090651654. 2
92090651655. 3
92090651656. 4

Question Number : 15 Question Id : 92090613079 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A certain sum on simple interest becomes Rs 14880 in 3 years and Rs 16800 in 5
years. Find the rate of interest.

(1) 6.5% (2) 7%
(3) 89 (4) B8.25%

=2

Options :
92090651657. 1



92090651658. 2
92090651659. 3
92090651660. 4

Question Number : 15 Question Id : 92090613079 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A certain sum on simple interest becomes Rs 14880 in 3 years and Rs 16800 in 5
years. Find the rate of interest.

(1) 6.5% (2) 7%
(3) 8% (4) 8.25%
Options :

92090651657. 1
92090651658. 2
92090651659. 3
92090651660. 4

Question Number : 16 Question Id : 92090613080 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Bhuvan is fifteenth from the front in queue of boys. There are thrice as many behind
him as There were in front. How many boys are there between Bhuvan and the
seventh boy from the end of the queue?

(1) 33 (2) 34
(3) 35 (4) 36
Options :

92090651661. 1
92090651662. 2
92090651663. 3
92090651664. 4

Question Number : 16 Question Id : 92090613080 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Bhuvan is fifteenth from the front in queue of boys. There are thrice as many behind
him as There were in front. How many boys are there between Bhuvan and the
seventh boy from the end of the queue?

(1) 33 (2) 34
(3) 35 (4) 36
Options :

92090651661. 1
92090651662. 2
92090651663. 3
92090651664. 4

Question Number : 17 Question Id : 92090613081 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Statement :  There should be only one university throughout India.

Arguments : (D) This will make the degrees procured by students, comparable

for offering jobs.

(I) This is the only way to bring about uniformity in the

educational standards.

Which of the above argument(s) hold for the statement?

(1) Only argument I
(2) Only argument I1
(3)  Argument I and argument 11

(4) Neither argument I nor argument 11

Options :

92090651665. 1
92090651666. 2
92090651667. 3
92090651668. 4



Question Number : 17 Question Id : 92090613081 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Statement :  There should be only one university throughout India.

Arguments : (I) This will make the degrees procured by students, comparable

for offering jobs.

(II) This is the only way to bring about uniformity in the

educational standards.

Which of the above argument(s) hold for the statement?

(1) Only argument I
(2) Only argument II
(3) Argument I and argument 11

(4) Neither argument I nor argument 11

Options :

92090651665. 1
92090651666. 2
92090651667. 3
92090651668. 4

Question Number : 18 Question Id : 92090613082 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the missing number.

(1) 13 (2) 14
(3) 20 (4) 21
Options :

92090651669. 1
92090651670. 2
92090651671. 3
92090651672. 4

Question Number : 18 Question Id : 92090613082 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the missing number.

f

15? 2161?

IO
W

(1) 13 (2) 14
(3) 20 (4) 21
Options :

92090651669. 1
92090651670. 2
92090651671. 3
92090651672. 4

Question Number : 19 Question Id : 92090613083 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the number of triangles in the following figure.

(1) 48 (2) 42
(3) 44 (4) 38
Options :

92090651673. 1
92090651674. 2
92090651675. 3
92090651676. 4

Question Number : 19 Question Id : 92090613083 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the number of triangles in the following figure.

(1) 48 (2) 42
(3) 44 (4) 38
Options :

92090651673. 1
92090651674. 2
92090651675. 3
92090651676. 4

Question Number : 20 Question Id : 92090613084 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the water image of the following fig (X)

e

fig (X)
Options :

92090651677. 1
92090651678. 2
92090651679. 3
92090651680. 4

Question Number : 20 Question Id : 92090613084 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identify the water image of the following fig (X)

e

fig (X)
Options :

92090651677. 1
92090651678. 2
92090651679. 3
92090651680. 4



Question Number : 21 Question Id : 92090613085 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Name of India’s 15t Drone which can carry human passengers?

(1) Varuna (2) Hanu
(3) Garuda (4) Udan Khatola
Options :

92090651681. 1
92090651682. 2
92090651683. 3
92090651684. 4

Question Number : 21 Question Id : 92090613085 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Name of India’s 15t Drone which can carry human passengers?

(1) Varuna (2) Hanu
(3) Garuda (4) Udan Khatola
Options :

92090651681. 1
92090651682. 2
92090651683. 3
92090651684. 4

Question Number : 22 Question Id : 92090613086 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

National emergency is declared under which of the article of Indian Constitution?

(1) Article 342 (2) Article 350
(3) Article 362 (4) Article 352
Options :

92090651685. 1
92090651686. 2
92090651687. 3
92090651688. 4



Question Number : 22 Question Id : 92090613086 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

National emergency is declared under which of the article of Indian Constitution?

(1) Article 342 (2) Article 350
(3) Article 362 (4) Article 352
Options :

92090651685. 1
92090651686. 2
92090651687. 3
92090651688. 4

Question Number : 23 Question Id : 92090613087 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fiven below are two statements :

Statement [ :  The National wealth is the measurement of total National Income
of the country on a given time,
Statement 11 :  National income is the measurement of flow of services and goods

in economic system. It is the production power of economic

system in a given time period.

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement | and Statement Il are correct
(2) Both Statement | and Statement Il are incorrect
(3) Statement I is correct but Statement I1 is incorrect

(4) Statement I is incorrect but Statement I1 is correct

Options :
92090651689. 1
92090651690. 2



92090651691. 3
92090651692. 4

Question Number : 23 Question Id : 92090613087 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fiven below are two statements :

Statement [ : The National wealth is the measurement of total National Income
of the country on a given time,
Statement II  : National income is the measurement of flow of services and goods

in economic system. It is the production power of economic

system in a given time period.

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement I and Statement Il are correct
(2) Both Statement I and Statement Il are incorrect
(3) Statement [ is correct but Statement Il is incorrect

(4) Statement [ is incorrect but Statement I1 is correct

Options :

92090651689. 1
92090651690. 2
92090651691. 3
92090651692. 4

Question Number : 24 Question Id : 92090613088 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who out of the following became the first ever player in football to score 700 goals in
club football and also the leading Scores in international football?

(1) Lionel Messi (2) Cristiano Ronaldo
(3) Pele (4) Robert Lewandowski
Options :

92090651693. 1
92090651694. 2
92090651695. 3
92090651696. 4

Question Number : 24 Question Id : 92090613088 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who out of the following became the first ever player in football to score 700 goals in
club football and also the leading Scores in international football?

(1) Lionel Messi (2) Cristiano Ronaldo
(3 Pele (4) Robert Lewandowski
Options :

92090651693. 1
92090651694. 2
92090651695. 3
92090651696. 4

Question Number : 25 Question Id : 92090613089 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following diseases are caused by houseflies?

(A) Cholera
(B) Malaria
(C) Typhoid
(D)  Dysentery
(E) Dengue

Choose the correct answer from the options given below :

(1) (A), (B) and (D) only
(2) (A), (B) and (E) only
(3) (A), (C) and (D) only
(4) (A), (D) and (E) only

Options :

92090651697. 1
92090651698. 2
92090651699. 3
92090651700. 4

Question Number : 25 Question Id : 92090613089 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following diseases are caused by houseflies?

(A) Cholera
(B) Malaria
(C) Typhoid
(D) Dysentery
(E) Dengue

Choose the correct answer from the options given below :

(1) (A), (B) and (D) only
(2) (A), (B) and (E) only
(3) (A), (C) and (D) only
(4) (A), (D) and (E) only

Options :

92090651697 1
92090651698. 2
92090651699. 3
92090651700. 4



Part B: B Ed Humanities and Social Sciences

Section Id : 920906260
Section Number : 2

Section type : Online
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Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906427
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 92090613090 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
“In politics ... hero worship is a sure road to degradation and eventual dictatorship.”

This statement is given by

(1) Mahatma Gandhi (2) Jawaharlal Nehru
(3) Sardar Patel (4) B.R. Ambedkar
Options :

92090651701. 1
92090651702. 2
92090651703. 3
92090651704. 4

Question Number : 26 Question Id : 92090613090 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



NEEIG R I& gaTl, RTEe SR deagTd aFmrel &1 AR g g |
U8 oy o grifear mar &

(1) HEA Tieh (2) SIARYd TgE
(3) ISR UeA (4) o3 dSH
Options :

92090651701. 1
92090651702. 2
92090651703. 3
92090651704. 4

Question Number : 27 Question Id : 92090613091 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The zone which i1s characterized by a sharp change in the density of the seawater in
the tropical and a sub-tropical region is called?

(1) Thermocline (2) Thermohaline
(3) Halocline (4) Hydro cline
Options :

92090651705. 1
92090651706. 2
92090651707. 3
92090651708. 4

Question Number : 27 Question Id : 92090613091 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o Iwidedt 3R IUWU SicaHiy &F &1 THgEl &a & °9d | did URadq gR1 [agdida
a1 AT §, Feddl 6 -

(1) umfedEA 2) ywiefeE
(3) Belraemga (4) BRI
Options :

92090651705. 1
92090651706. 2
92090651707. 3
92090651708. 4



Question Number : 28 Question Id : 92090613092 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is basically a summary of resources and expences of the business and calculates
the net figures termed as profit and loss?

(1) Trading account and profit loss account

(2)  Receipt and payment, Income and expenditure account
(3) Funds flow statement

(4) Balance sheet

Options :

92090651709. 1
92090651710. 2
92090651711. 3
92090651712. 4

Question Number : 28 Question Id : 92090613092 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qH™ & FH1eEl SR o0g &1 gd U 4 &1 aid § SR o @ R g4 & ddy & fAaa
3T B UM ST & ?

(1) SR Ml 3R - g1 @l (2) WG SR YTdH, 3 3R 99 Gl
(3) N Ydrg fqau (4) qaNuA

Options :

92090651709. 1
92090651710. 2
92090651711. 3
92090651712. 4

Question Number : 29 Question Id : 92090613093 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The sentence in National emblem, ‘Satyamev Jayate’ is taken from

(1)  Ishasyaopnishad (2) Kathopnishad
(3) Kenopnishad (4) Mundakopnishad
Options :

92090651713. 1



92090651714. 2
92090651715. 3
92090651716. 4

Question Number : 29 Question Id : 92090613093 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BT ydltes A sifdbd a1 wAd S ferar man @ -

(1)  SuufYg (2) HoMAYG
(3)  AMHEYEg (4) HUSHIUFTEG
Options :

92090651713. 1
92090651714. 2
92090651715. 3
92090651716. 4

Question Number : 30 Question Id : 92090613094 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Every wear on 29t June we celeberate ‘Statistics Day’ commemorating the birth
anniversary of:

(1) K.C. Pant (2) P.C. Mahalnobis
(3)  Acharya Raghuveer (4) M.B. Buch
Options :

92090651717. 1
92090651718. 2
92090651719. 3
92090651720. 4

Question Number : 30 Question Id : 92090613094 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ul Y 29 S I g4 fas! 9 Tia &1 ag S & fau wiefee ey 79 8 2

(1) &L (2) Ul "eeEfey
(3 SR AR (4 wd g



Options :

92090651717. 1
92090651718. 2
92090651719. 3
92090651720. 4

Question Number : 31 Question Id : 92090613095 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a fabric weaving defect?

(1) Misreed (2) Slub
(3) Chafe (4) Fuzz
Options :

92090651721. 1
92090651722. 2
92090651723. 3
92090651724. 4

Question Number : 31 Question Id : 92090613095 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ffd A A AW SUST R PN Tl ¢ ?

() ads (2) T wE
3) 1S IR Bl @) (4) 3l (W)
Options :

92090651721. 1
92090651722. 2
92090651723. 3
92090651724. 4

Question Number : 32 Question Id : 92090613096 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which is the longest river of the world:

(1) Nile (2) Amazon
(3) Fanga (4) Mississipm
Options :

92090651725. 1
92090651726. 2
92090651727. 3
92090651728. 4

Question Number : 32 Question Id : 92090613096 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fay &1 ged el A B A 2

() A (2) SfHSH
(3) T (4) it
Options :

92090651725. 1
92090651726. 2
92090651727. 3
92090651728. 4

Question Number : 33 Question Id : 92090613097 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The emergency was declared on 25th June 1975, by innoking the following article:

(1) Article 352 (2) Article 370
(3) Article 356 (4) Article 14
Options :

92090651729. 1
92090651730. 2
92090651731. 3
92090651732. 4

Question Number : 33 Question Id : 92090613097 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

fFrafeed & 9 {69 swde &1 Uddd X 25 S 1975 I SHT9IddTd & 9Nl & 73 of -

(1) SF%e 352 (2) 3RS 370
(3)  3fI=3a 356 (4) 3IDT 14
Options :

92090651729. 1
92090651730. 2
92090651731. 3
92090651732. 4

Question Number : 34 Question Id : 92090613098 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The full majority central government before the yvear of 2014 was formed in:

(1) 1984 (2) 1996
(3) 2004 (4) 1991
Options :

92090651733. 1
92090651734. 2
92090651735. 3
92090651736. 4

Question Number : 34 Question Id : 92090613098 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

quf §gHd dTdll S1d THR a4 2014 & Ugd Fufarad 7 9 feg o 7 o of

(1) 1984 (2) 1996
(3) 2004 (4) 1991
Options :

92090651733. 1
92090651734. 2
92090651735. 3
92090651736. 4



Question Number : 35 Question Id : 92090613099 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When and by whom was the Sanskrit College at Varanasi started?

(1) 1791, Jonathan Duncan (2) 1791, Warren Hastings
(3 1884, Charls Woods (4) 1781, Warren Hastings
Options :

92090651737. 1
92090651738. 2
92090651739. 3
92090651740. 4

Question Number : 35 Question Id : 92090613099 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IR § Terd Pias od R fad gr1 =ifad fagn mar o1 2

(1) 1791 SFTYA 64 (2) 1791 aRA gfEe
(3) 1884 AT 489 (4) 1781 dRA g™
Options :

92090651737. 1
92090651738. 2
92090651739. 3
92090651740. 4

Question Number : 36 Question Id : 92090613100 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The first non-Congress Prime Minister was

(1) V.P. Singh (2) A.B. Vajpayee
(3) H.D. Devegowda (4) Morarji Desai
Options :

92090651741. 1
92090651742. 2
92090651743. 3
92090651744. 4



Question Number : 36 Question Id : 92090613100 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UYH TR-SHIE g 4 -

(1) didl g (2) uat areodt
(3) TAS TTel (4) ARRG TS
Options :

92090651741. 1
92090651742. 2
92090651743. 3
92090651744. 4

Question Number : 37 Question Id : 92090613101 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The first man to set foot an moon is:

(1) Yuri Gagarin (2) Neil Armstrong
(3) Rakesh Sharma (4) Richard Brauson
Options :

92090651745. 1
92090651746. 2
92090651747. 3
92090651748. 4

Question Number : 37 Question Id : 92090613101 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T5H TR HeH TG dTd YyH Afad 3 -

(1 ghRE (2 A s
3)  Up YA (4) f=edEa
Options :

92090651745. 1
92090651746. 2
92090651747. 3
92090651748. 4



Question Number : 38 Question Id : 92090613102 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

After 1857 the British authorities decided to decentralize public finance. The first

step in the direction of separating central and provincial was taken in by
(1) 1871, Lord Mayo (2) 1870, Lord Mayo
(3) 1870, Lord Hastings (4) 1871, Lord Lytton

Options :

92090651749. 1
92090651750. 2
92090651751. 3
92090651752. 4

Question Number : 38 Question Id : 92090613102 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1857 & IRia, B uiieRaET 3 e fid ) Ridfigd H3 o1 Rk R | Fia ok

Uidg fa<dl & gusdor &t G 7 gy o o " & GRI IS ™I
Ut

(1) 1871718 A4 (2) 1870 @IS A4l

(3) 1870 WIS e (4) 1871 @S fereq

Options :

92090651749. 1
92090651750. 2
92090651751. 3
92090651752. 4

Question Number : 39 Question Id : 92090613103 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Twa (Batwa) ethnic Group is found in which region of the world?

(1) Congo Basn (2) Sahara Desert
(3) Sudan (4) Kenya

Options :



92090651753. 1
92090651754. 2
92090651755. 3
92090651756. 4

Question Number : 39 Question Id : 92090613103 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ddl (@rdd) Jrrg THg 3y & fg & U S € 2

(1) Him A (2) WERI HS®d
(3) gsH (4) =l
Options :

92090651753. 1
92090651754. 2
92090651755. 3
92090651756. 4

Question Number : 40 Question Id : 92090613104 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following 1s not the major Biomes of the world?

(1) Forest (2) Desert
(3) Grassland (4) Lagoons
Options :

92090651757. 1
92090651758. 2
92090651759. 3
92090651760. 4

Question Number : 40 Question Id : 92090613104 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFrofafaa & & o9 W @ 3y &1 uga Siem @) T8 8 2
(n dd (2) HER

@) NP AeH (4) Y



Options :

92090651757. 1
92090651758. 2
92090651759. 3
92090651760. 4

Question Number : 41 Question Id : 92090613105 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following is leverage ratio?

(1) Current ratio (2) Operating ratio
(3) Debt equity ratio (4) Inventory ratio
Options :

92090651761. 1
92090651762. 2
92090651763. 3
92090651764. 4

Question Number : 41 Question Id : 92090613105 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FrofafEad & | SF 11 Uh WHIEH &Hdl (cflad) U @ 2

(1) e Sigard CIREINE R G IC]
(3) B3P S (4) IS - I SIFUTT
Options :

92090651761. 1
92090651762. 2
92090651763. 3
92090651764. 4

Question Number : 42 Question Id : 92090613106 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



DTH services are provided by

(1) Reliance Infocom limited (2) Bharat Airtel Limited
(3) Cellular Companies (4) Vodafone Idea Limited
Options :

92090651765. 1
92090651766. 2
92090651767 3
92090651768. 4

Question Number : 42 Question Id : 92090613106 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DT H ard & GRIUSH &1 il § -

(1) Roda 3w fafids (2) HRd umed faftes
(3) UgeR dufal (4) TSI M3fEar s
Options :

92090651765. 1
92090651766. 2
92090651767. 3
92090651768. 4

Question Number : 43 Question Id : 92090613107 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one the following is incorrect regarding formulation of Councill of Ministers in
India as given in Article 75 (2) of the constitution?

(1)  The prime minister shall be appointed by the president.

(2)  Ministers shall hold office during the pleasure of the president.

(3) All the ministers share collective responsibility to the Lok Sabha.

(4)  All the ministers share collective responsibility to the Rajya Sabha.

Options :

92090651769. 1
92090651770. 2
92090651771. 3
92090651772. 4



Question Number : 43 Question Id : 92090613107 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR # #EUREg & 1184, 591 i WiauE & o=e 75 (2) # g1 a1 8, & ey | Fgfefad |
YPHIUH e 8 ?

(1) v @t Fgfdd, aydfa gr1 3 Se |

(2)  wfEwTon Ayufa & v ud Srafad I S

(3) |t w@ETOr A ¥ R die 991 F Uil Iaeerd 8 |
4) T w@ETO EfRe U R I JHT & Ui IRl €1 |

Options :

92090651769. 1
92090651770. 2
92090651771. 3
92090651772. 4

Question Number : 44 Question Id : 92090613108 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
To promot joyful learning on the topic “Moghal Architecture”, a teacher should:

(1) Emphasis on rote learning

(2)  Book reading loudly

(3) Give readymade notes in beautiful handwriteing

(4)  Make a field visit to Tajmahal and Lal Quila during the vacations.

Options :

92090651773. 1
92090651774. 2
92090651775. 3
92090651776. 4

Question Number : 44 Question Id : 92090613108 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T RIGT Hal vy R sgyde 30 & fag Widrg- 8q U Rige o1 9mfge -

(1) ¥ & @ W ad <1
(2) At ST H fdre ggl

(3) Y gwfamy ¥ gd fAftfa Je 3
(4) W%ﬁmmﬁ?mﬁﬁmwmmmmm|

Options :

92090651773. 1
92090651774. 2
92090651775. 3
92090651776. 4

Question Number : 45 Question Id : 92090613109 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If CAT is spelled as FDW, then DOG will be spelled as:

(1) JRG (2) GRJ
(3) EPH (4) BED
Options :

92090651777. 1
92090651778. 2
92090651779. 3
92090651780. 4

Question Number : 45 Question Id : 92090613109 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gl CAT ®I FDW feran Sirdl 8 df DOG 1 férar i -

(1) JRG (2) GRdJ
(3) EPH (4) BED
Options :

92090651777. 1
92090651778. 2
92090651779. 3
92090651780. 4



Question Number : 46 Question Id : 92090613110 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the next number in sequence:

5, 11, 23, 47, ?

(1) 99 (2) 102

(3) 105 (4) 95
Options :

92090651781. 1
92090651782. 2
92090651783. 3
92090651784. 4

Question Number : 46 Question Id : 92090613110 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

shH H 3ATC! IS 1 DI -

5,11, 23, 47, ?

(1) 99 (2) 102

(3) 105 (4) 95
Options :

92090651781. 1
92090651782. 2
92090651783. 3
92090651784. 4

Question Number : 47 Question Id : 92090613111 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The first general election in 1952 involved simultaneous election to the Lok Sabha
and

(1) State Assemblies (2) President of India
(3) Rajya Sabha (4) Prime Minister
Options :

92090651785. 1



92090651786. 2
92090651787. 3
92090651788. 4

Question Number : 47 Question Id : 92090613111 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1952 H WyH 3 19 H dld TH 3R & U Ty 1 2T o |
(1) I Ry (2) YRd P upufd

(3) U IH (4) TuH

Options :

92090651785. 1
92090651786. 2
92090651787. 3
92090651788. 4

Question Number : 48 Question Id : 92090613112 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Education as a subject matter was added in the concurrent list in the year

(1) 1986 (2) 1956
(3) 1966 (4) 1976
Options :

92090651789. 1
92090651790. 2
92090651791. 3
92090651792. 4

Question Number : 48 Question Id : 92090613112 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e &1 U fawg-a%g & =9 & gradi g1 d i a9 e -

(1) 1986 (2) 1956
(3) 1966 (1) 1976

Options :



92090651789. 1
92090651790. 2
92090651791. 3
92090651792. 4

Question Number : 49 Question Id : 92090613113 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

During Covid-19, Indians stuck abroad were brought back under the aegis of

(1) Vande Bharat Mission (2) Bhartiva Jeevan Mission
(3) PM-Life Saving Mission (4) PM-Jeevan Suraksha Mission
Options :

92090651793. 1
92090651794. 2
92090651795. 3
92090651796. 4

Question Number : 49 Question Id : 92090613113 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hifds - 19 F aRA, AT & ¥ URGH! F1 fus daE9= & a9y T @ -

(1) g YRd fiem (2) HRdH St A
(3)  UYHHA! — % |fdT fEE (4) WA - Sita= e e
Options :

92090651793. 1
92090651794. 2
92090651795. 3
92090651796. 4

Question Number : 50 Question Id : 92090613114 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The qualities of an effective social science teacher would be:
(A) Have mastery over subject content

(B) Should be over friendly with the learners

(C) Have good command over language

(D) Should use corporal punishment to silence the trouble shooters

(1) (A) and (B) only (2) (A), (B) and (C) only
(3) (A)and (C) only (4) (C)and (D) only
Options :

92090651797. 1
92090651798. 2
92090651799. 3
92090651800. 4

Question Number : 50 Question Id : 92090613114 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UE W arifor [ e 31 fadan g afgu -

A fawa - awg ¥ geran g anfgul

B. Ml & ufd aifd - Aquf g =nfgel

C. MWW 3B Uhs gHl AMgul

D. Jusdl BHEI B Wid B P oIt HER ARINS &3 BT IuGI HAT 1T

4 feu e fasedi § 9 el I &1 994 Hifold :

(1) FddAARB
(2) FadABIARC
(3) FAAAIMRC,
(4 HAACIARD
Options :

92090651797. 1
92090651798. 2
92090651799. 3



92090651800. 4

Question Number : 51 Question Id : 92090613115 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a part of the NATIONAL NUTRITION POLICY adopted
by the government in 19937

(1) Integrated Child Development Services
(2)  Control of micronutrient deficiencies among the vulnerable group
(3)  Production of organic food

(4) Fortification of essential food

Options :

92090651801. 1
92090651802. 2
92090651803. 3
92090651804. 4

Question Number : 51 Question Id : 92090613115 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a4 1993 # HRd WSHR gR1 Wipd WP v Hifd &1 Fufafea § 9 S5 91 0 um
T g -

(1)  UHlpd 91 faepry Jard|
(2) gua 97 ¥ Y&H OIS dadl B S Pl FEH |
(@) e 3MER BT I
(4)  TAYGD TR H THSHRI el B e S|

Options :

92090651801. 1
92090651802. 2
92090651803. 3
92090651804. 4

Question Number : 52 Question Id : 92090613116 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is not a function of the media?

(1) Transmission of values
(2) Surveillance

(3) Non analysis of facts and events, rather present them as they occurred
(4) Mobilization

Options :

92090651805. 1
92090651806. 2
92090651807. 3
92090651808. 4

Question Number : 52 Question Id : 92090613116 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafatad & @ @ Hifsar &1 e & 781 82

(1) Hedl &1 UER

2) e

(3) =i R geAd & TR Ay St oitien 391 Id 9 # Ugd B o fdh 4 =fed
gl e

(4)  SHdd!

Options :

92090651805. 1
92090651806. 2
92090651807. 3
92090651808. 4

Question Number : 53 Question Id : 92090613117 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The NCERT stands for:

(1) National Culture of Education Research and Thought
(2)  National Council of Educating Resources and Tools
(3) National Centre of Educational Reform and Truth

(4) National Council for Educational Research and Training

Options :



92090651809. 1
92090651810. 2
92090651811. 3
92090651812. 4

Question Number : 53 Question Id : 92090613117 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
NCERT ®1 QUi &U & -

(1) A e 316 T R s T
(2) AT SR 3ih ughfen aRfs wus Ted
(3)  ARHd Yo BR TeHY-d e uog gy
(4) YA BISRIT BIR TelbeHd R Tug e

Options :

92090651809. 1
92090651810. 2
92090651811. 3
92090651812. 4

Question Number : 54 Question Id : 92090613118 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Great Indian desert is

(1) Gobi desert (2) Sahara Desert
(3) Cholistan desert (4) Thar Desert
Options :

92090651813. 1
92090651814. 2
92090651815. 3
92090651816. 4

Question Number : 54 Question Id : 92090613118 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(1) el AERd (2) TeRIHoXd
(3)  diferdH HERd (4) YR ASA
Options :

92090651813. 1
92090651814. 2
92090651815. 3
92090651816. 4

Question Number : 55 Question Id : 92090613119 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which amongst the following does not belong to Kharif season:

(1) Peas (2) Rice
(3) Maige (4) Bajra
Options :

92090651817. 1
92090651818. 2
92090651819. 3
92090651820. 4

Question Number : 55 Question Id : 92090613119 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frofafed & 4 S 91 0% Byd el & ?

(1) #|eX (2) TEd
(3) HaDI (4) @RI
Options :

92090651817. 1
92090651818. 2
92090651819. 3
92090651820. 4

Question Number : 56 Question Id : 92090613120 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

The planet with the highest number of moons is

(1) Venus (2) Jupiter
(3) Neptune (4) Mars
Options :

92090651821. 1
92090651822. 2
92090651823. 3
92090651824. 4

Question Number : 56 Question Id : 92090613120 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e il dE F T5Hiel ard Ue & -

() P (2) gewid
(3) d¥U (4) HITd
Options :

92090651821. 1
92090651822. 2
92090651823. 3
92090651824. 4

Question Number : 57 Question Id : 92090613121 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The need hierarchy theory of motivation is given by:

(1) Abraham Maslow (2) Henri Ford
(3 [ssac Newtron (4) Adam Smith
Options :

92090651825. 1
92090651826. 2
92090651827. 3
92090651828. 4

Question Number : 57 Question Id : 92090613121 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

SR &7 * aSgddl Qg g [Fad gri ufauied g ?

(1) 3fsTeH Al 2) TRIWS
(3)  SHEOP YA (4) usH By
Options :

92090651825. 1
92090651826. 2
92090651827. 3
92090651828. 4

Question Number : 58 Question Id : 92090613122 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following leader is associated with Narmadha Bachao Andolan

(1) Sushma Swaraj (2) Brinda Karat
(3)  Arundhati Roy (1) Medha Patkar
Options :

92090651829. 1
92090651830. 2
92090651831. 3
92090651832. 4

Question Number : 58 Question Id : 92090613122 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafafad @ @ fea Aar &1 9m FHa Farslt s15ia- & Y J318 -

(1)  gYHI &S (2) daIdRA
(3)  SrEYdl I (4) HHIUEHL
Options :

92090651829. 1
92090651830. 2
92090651831. 3
92090651832. 4

Question Number : 59 Question Id : 92090613123 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Who is known as ‘Milkman of India™?

(1) Verghese Kurian (2) M.S. Swaminathan
(3) Chaudhaury Devilal (4) Amulya Ganguly
Options :

92090651833. 1
92090651834. 2
92090651835. 3
92090651836. 4

Question Number : 59 Question Id : 92090613123 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
“HRd $1 fAehiT 68 Se1 o g 2

(1) oS A (2) THTH WHAE
3)  ared Ediea (4) S Tl
Options :

92090651833. 1
92090651834. 2
92090651835. 3
92090651836. 4

Question Number : 60 Question Id : 92090613124 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Name the state where congress was not in authority during 1952-57.

(1) Tamilnadu (2) Jammu and Kashmir
(3) Kerala (1) Both Jammu and Kashmir and Kerala
Options :

92090651837. 1
92090651838. 2
92090651839. 3
92090651840. 4

Question Number : 60 Question Id : 92090613124 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

I U BT A 95U, 9gl 1952-57 P SR HIUE T H Al At

(1) dfeErg (2) AR FER
3) Pd (4) o 3R HIHR T4 I
Options :

92090651837. 1
92090651838. 2
92090651839. 3
92090651840. 4

Question Number : 61 Question Id : 92090613125 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the odd one out:

(1) Delhi University

(2) Jawahar Lal Nehru University

(3) Jamia Millia Islamia

(4) Indira Gandhi National Open University
Options :
92090651841. 1
92090651842. 2

92090651843. 3
92090651844. 4

Question Number : 61 Question Id : 92090613125 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fawH 31 ggdH Sifo |

(1) T fayfaenem

(2) iaTeRard A% fayfayfaemey
(3) i afer sEeEa

(@) SR e Wity He fayfaemera

Options :
92090651841. 1



92090651842. 2
92090651843. 3
92090651844. 4

Question Number : 62 Question Id : 92090613126 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Nagarjuna Sager Project is Located on which of the following river?

(1) Narmada (2) Krishna
(3) Tapti (4) Periyar
Options :

92090651845. 1
92090651846. 2
92090651847. 3
92090651848. 4

Question Number : 62 Question Id : 92090613126 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TARTS}A PR ufdieHT Fofafed 3 4 feg ad w fRua g 2

(1) =l (2) Pl
(3) ol 4) AR
Options :

92090651845. 1
92090651846. 2
92090651847. 3
92090651848. 4

Question Number : 63 Question Id : 92090613127 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Book ‘Kitab-ul-Hind’ was written by -

(1) Ibn Batuta (2) Raihan —al-Reish
(3) Muzaffar-al- Biruni (4) Al- Birum
Options :

92090651849. 1



92090651850. 2
92090651851. 3
92090651852. 4

Question Number : 63 Question Id : 92090613127 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tobare — 39 - s Yo fvad gr fordi g 4 2

(1) SHEI (2) YEHE-3Hd- 9
(3)  HOAPR — 3 — G5 (4) 3fd — S5l
Options :

92090651849. 1
92090651850. 2
92090651851. 3
92090651852. 4

Question Number : 64 Question Id : 92090613128 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Bhagat Singh, Sukhdev and Rajaguru were sentenced to be hanged. The sentence was
carried out on

(1) 22 March 1931 (2) 21 March 1931
(3) 20 March 1931 (4) 23 March 1931
Options :

92090651853. 1
92090651854. 2
92090651855. 3
92090651856. 4

Question Number : 64 Question Id : 92090613128 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T Rig, YEd 3R IS T &1 B &1 Te 1S 71 o | U8 Fell %! foparfad &1 18
ar|

(1) 22 HATH 1931 (2) 21 #1931
(3) 20 HFE 1931 (4) 23 HTE 1931
Options :

92090651853. 1
92090651854. 2
92090651855. 3
92090651856. 4

Question Number : 65 Question Id : 92090613129 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A student in class is visiually impaired and not participating in classroom activities.
A teacher should:

(1) Shout at him/her

(2) (Give punishment

(3)  Talk to him/her in person and motivate

(4)  Complain to the Principal and change his/her Action

Options :

92090651857. 1
92090651858. 2
92090651859. 3
92090651860. 4

Question Number : 65 Question Id : 92090613129 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

foddt dan ¥ v o =Pl g iR wan &1 nfafaferd & wrr 781 & w1 21 ue e &1 A

(1) I9 W e

(2) ISP HSl AT

(3) 399 AfGHTd ¥ H §1d B 3R Uidied Sl

(4) UHFENS 9 RIeHd HIA1 SR IS G B d98d ol |

Options :



92090651857. 1
92090651858. 2
92090651859. 3
92090651860. 4

Question Number : 66 Question Id : 92090613130 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion (A) and the other is

labelled as Reason (R).

Assertion (A): The state has a right to intervene in, or restrict media operations and
devices of censorship and direct control in the interest of the

development of the country.

Reasons (R): Freedom of the media should be restricted to an extent keeping in

mind the economic priorities and developmental needs of the country.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options :

92090651861. 1
92090651862. 2
92090651863. 3
92090651864. 4

Question Number : 66 Question Id : 92090613130 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I g1 ®yA U MU § U@ SHfUPHUA (Assertion A) B ¥U H fafed § I U IUD HRU
{(Reason nﬁm fl;

HHFYTA : T B U & fae™ & fea A Aifsa vl | gway &34 a1 |ifgar &1

ufdEitd S SR TR T a9 U FEa0 &1 SiUeR ¢ |

PRUIR : Hifsar &1 Wdadr &1 <0 &t fae™ mEavgsarsii iR nfdfe urufiiedrsi &1

& # TEd gU ufdefed faan s anfgu

SR HY & 3Maid |, A 3 70 fawedl 7 9 998 Iuge I &1 949 Hiforw

(1)
(2)
(3)
(4)

A 3R R HFI Hel § 3R R, A B el AT 8

A 3R R SHI GEl € AP R, A B G sareT Tl &
A TS &, AfT R WS ST B

ATE 8 ¢ AP R WEl ©

Options :

92090651861. 1
92090651862. 2
92090651863. 3
92090651864. 4

Question Number : 67 Question Id : 92090613131 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion A and the other is

labelled as Reason R.

Assertion (A):  Persons who have worked in an organization for a long period of time
and perform well may not need capacity building and upgradation of

skills,

Reasons (R): Competent employees do not remain competent forever.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is false

(4) (A) is not correct but (R) 1s true

Options :

92090651865. 1
92090651866. 2
92090651867. 3
92090651868. 4

Question Number : 67 Question Id : 92090613131 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I g $YF RT MU § U 3MUBYH (Assertion A) & w4 H fifed § O TEI IGD HRUI
(Reason R)a’TFﬂ ﬂ;

AMFYF A - 9 a1, oA UF ddl grafaly a@ [0 Sred # s fdar g ofR o1 e
uesH a1 g, 3901 &Har-FHml iR $Ied- 399 &1 avgdHdl el 81 bl
el

BRUIR : Y& HHAR Ued e el ed g |
SRR HY & HTeld H, -9 13U 70 fawedl § ¥ 9a Iuge IR &1 999 Hiforw

(1) A SRR T8l & 3 R, A I ol RS &

2 A SJRREHI Hel g, Al R, A DI el AR Tgl &
(3) AWEE AFARIE TS

(4) AWETEIE AfPTR TG

Options :

92090651865. 1
92090651866. 2
92090651867. 3
92090651868. 4

Question Number : 68 Question Id : 92090613132 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion A and the other is

labelled as Reason H.

Assertion (A): Promotion of self-employment and wage employment schemes are

nutrition related programme in our country.

Reasons (R): Self employment and wage employment are social safety programmes

and therefore, qualify as public nutrition schemes.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both (A) and (R) are correct and (R) 15 the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) 15 not correct but (R) is correct

Options :

92090651869. 1
92090651870. 2
92090651871. 3
92090651872 4

Question Number : 68 Question Id : 92090613132 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I g1 $y JU U §: U B UT (Assertion A) F ®Y ¥ forfEd & dl ¥R 39D SR
(Reason R]gﬁm ff;

HHBYTA : TR T H, WATTR IR WGl AR oIS BT Wi U Umol Haiehl

SHHH B

HRUIR : TRIGR SR Helgdt AeHIR WHToS Y&l dRdldd SRsHH § 3R FHIT,

Hidui-e 9o giers & © 9 5 9] §Ri ¢ |

FURIR HYF & 3fale |, - G0 10 fawedl § ¥ 998 IugR IR &1 99 Difelw

(1)
(2)
(3)
(4)

A 3R R I Tl § 3R R, A ] Ue! RS &

A 3R R SHI U8l € AP R, A B UL e 7T &
ATEIE APT RS TR

ATE G & AT R UST B

Options :

92090651869. 1
92090651870. 2
92090651871. 3
92090651872 4

Question Number : 69 Question Id : 92090613133 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion A and the other is

labelled as Reason H.

Assertion (A): Home work helps learners for self learning at home.

Reasons (R): Home work must be given to children to keep them busy after school.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) is correct but (R) is false

(4) (A) 15 not correct but (R) 1s true

Options :

92090651873. 1
92090651874. 2
92090651875. 3
92090651876. 4

Question Number : 69 Question Id : 92090613133 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I 31 Sy U U € U@ SHUSHYF (Assertion A) & FU H faed § O I 3D BRI
(Reason m%}?\u H:

HUFU A ;e S, Rienfiai &1 R W G- srengH T el 3 g
HRUIR : Wpd & Uy el &1 ored TaA & fore Jg- S sawd i 9 9|
JURIRT HYA F 3feile |, -9 fGU 10 fadbedl 7 ¥ 998 IugeR IR &1 99 Difelt

(1)  ASRREHI 9l § 3R R, A P! el AR §

(2) A SRREH gel g, Ald R, A D1 ol TR el &
(3) AWEE AMPTIRIS TS

(4) AYETEE APTREENR

Options :



92090651873. 1
92090651874. 2
92090651875. 3
92090651876. 4

Question Number : 70 Question Id : 92090613134 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements: One is labelled as Assertion A and the other is

labelled as Reason R.

Assertion (A): The non-directive counseling process truns out to be a growth

experience of the counsellee.

Reasons (R): The counsellor’s role is comparatively in different counselling

processes.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is false

(4) (A) 15 not correct but (R) 18 true

Options :

92090651877. 1
92090651878. 2
92090651879. 3
92090651880. 4

Question Number : 70 Question Id : 92090613134 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I € HuA AU U §: UF HUFBUA (Assertion A) & FU T fRdd g ol gEI IS HRUI
(Reason Rja'TF'EI ﬁ;

HYFYT A ;. TR-FERmHES Wl uisar e U6l & o4 3fg 819 & I &1 2
HRUIR : RIFET $1 YfheT fafis s ufdars § siendd FRp g g
IR $YF & 3MTadle H, 913 fGu M0 fasel 7 4 ¥el IR &1 999 S

(1) A SRRSH HEl € 3R R, AP Uel AR €

(2) A SRR GH Hel €, Al R, A B T8 R el &
(3) AUEE AFT RIS AR

(4) ATEITIE APTRAL

Options :

92090651877. 1
92090651878. 2
92090651879. 3
92090651880. 4

Question Number : 71 Question Id : 92090613135 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion A and the other is

labelled as Reason R.

Assertion (A): K. Kasturirangan chaired the writing committee of National

Education Policy-2020.

Reasons (R): K. Kasturirangan is an educationist and teaches education in

Mumbai University.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) 15 correct but (R) 15 false

(4) (A) is not correct but (R) is true

Options :

92090651881. 1
92090651882. 2
92090651883. 3
92090651884. 4

Question Number : 71 Question Id : 92090613135 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



4 &1 $yA AU MU §: UP 3MUHYA (Assertion A) & ¥4 H fied § a1 U IS SR
(Reason R}?:FF'CT p:

SIHFYT A T FERITH = AP RAaf i - 2020 B TG GG DI sieerar |
HRUR : &, SRR s [ayfaereay & v Renfag sk sienmes fRien 7 €
JWI HYA & 3HTadleh |, A AU e faswed] # 9 9l 3R &1 994 Fifere

(1)  ASRRIFEIHE T 3R R, A DI G AAT©

(2) A SIRREHI I €, AfH R, A P el RS el &

3) AUSE AFPTIRUETETR
(4) AUglIElg, AbIRTEI

Options :

92090651881. 1
92090651882. 2
92090651883. 3
92090651884. 4

Question Number : 72 Question Id : 92090613136 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion A and the other is
labelled as Reason R.

Assertion (A): Children learn by motivation.

Reasons (R): Punishment is the best motivation.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) 15 correct but (R) 1s false

(4) (A) 18 not correct but (R) is true

Options :
92090651885. 1



92090651886. 2
92090651887. 3
92090651888. 4

Question Number : 72 Question Id : 92090613136 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 & Y QU MU § U USYA (Assertion A) & wU H faled § 1 gEI 39S BRI
(Reason R]ﬁi"{aﬂ H;

AMFYT A - el fimRer § ¥iEd g
PRUIR : TUE HaraH TR g1
I HYT & 3fdid 1, A 73U 778 f[dwedl § 9 T8l I &1 99+ Hifeid

(1) A SRRSH TSI € 3R R, A Bl el TS &

(2) A SR RGHI Tl §, Wl R, A &1 el RS T8l &
(3) AWEE AFARIE TS B

(4) AUGTEE, ABTREEE

Options :

92090651885. 1
92090651886. 2
92090651887. 3
92090651888. 4

Question Number : 73 Question Id : 92090613137 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the planets in decreasing order in the context of their density

(A)  Jupiter

(B) Saturn

(C) Mercury

(D) Mars

Choose the correct answer from the options given below :
(1) (©), (D), (B), (A)

(2)  (B), (AN, (D). (C)

(3) (A (B), (C), (D)

(4)  (C), (D), (A), (B)

Options :

92090651889. 1
92090651890. 2
92090651891. 3
92090651892. 4

Question Number : 73 Question Id : 92090613137 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tgl &1 39d g9d D Ha H ged §U HH § Haiyd S |

A FEHld
B. WM

C. g

D. HId

44 fau U faeedl d 9 9El It &1 994 Hifert -

(1) (C), (D), (B), (A)
2y (B), ), (D), (C)
(3)  (A), (B), (C), (D)
(4)  (C), (D), (A), (B)



Options :

92090651889. 1
92090651890. 2
92090651891. 3
92090651892. 4

Question Number : 74 Question Id : 92090613138 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange in lyrical order

(A) Pullakusumita drum dal shobhinim
(B) Shasyashyamalam Matram

(C) Suhasinim, Sumadhur Bhashanim

(D) Sujalam Sufalam Malyaj Sheetlam

(E) Shubra jyotsna pulkit yvaminim

Choose the correct answer from the options given below :

(1) (D). (C). (A, (B), (E)
(2) (D). (B), (E), (C), (A)
(3)  (E), (C), (B), (D), (A)
(4) (D), (B), (E), (A), (C)

Options :

92090651893. 1
92090651894. 2
92090651895. 3
92090651896. 4

Question Number : 74 Question Id : 92090613138 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g () H § S Ryd $ifeg |
A.  PpeadgiHd gA od TMHAH

B. YIRIATHEAN HIGH

C. eI, FHYR HITSiH

D. YW, YHamH, Hegs Sfdary

E. Y SUIcHl Yafhd TrfeHiy

13 AU 7 fadedi & | el IR 1959 DI ;

(1) (D), (C), (A), (B), (E)
(2) (D), B), (E), (C), (A)
3)  (E), (), (B), (D), (A)
(4) (D), (B), (E), (A), (C)

Options :

92090651893. 1
92090651894. 2
92090651895. 3
92090651896. 4

Question Number : 75 Question Id : 92090613139 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In 1765, East India Company acquired the control over the Revenues of which states?

(A) Bengal
(B)  Bihar
(C) Orissa
(D) Madras
(E) Bombay

Choose the correct answer from the options given below :

(1) (A, B), (C)
(2) (B, D). @A)
(3) (A, (C), (D)

4)  (C), (D), (E)

Options :

92090651897. 1
92090651898. 2
92090651899. 3
92090651900. 4

Question Number : 75 Question Id : 92090613139 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1765 H, 3% Sfear Al 7 & Tsal & Tord W Ad=u und & forar 2

A EME

B. fa&R
C. JsH
D. WaM
E. d

i U U fdsedl 4 9 9l IR &1 994 Hiforw

(1) (A, (B), (C)
(2) (B). (D), @A)

3 (A, (). (D)
(4) (), (D), (E)

Options :

92090651897. 1
92090651898. 2
92090651899. 3
92090651900. 4

Question Number : 76 Question Id : 92090613140 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following continents in decreasing order in the context of population
growth rate.

(A) Africa

(B) Asia

(C) Latin America

(D)  Europe

(E)  Oceania

Choose the correct answer from the options given below :

(1) (C), (D), (E), (A), (B)
(2) (A, (E). (), (B), (D)
(3) (A, (B), (C), (D), (E)
4)  (C), (D), (A), (E), (D)

Options :

92090651901. 1
92090651902. 2
92090651903. 3
92090651904. 4

Question Number : 76 Question Id : 92090613140 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



S gfa o) & daH A Fafeifad werEiul &1 ued gu s A sgafiud Sifon
A, 3MBIdT

B. URmm

c. afes @i
D. M

E 3

4 fou e faeedl 7 9§ 9el IR &1 994 Sifor

(1) (C). (D), (E), (A), (B)
(2)  (A), (B), (C), (B), (D)

(3)  (A), (B). (C), D), (E)
(@)  (C), (D), A, (E), (D)

Options :

92090651901. 1
92090651902. 2
92090651903. 3
92090651904. 4

Question Number : 77 Question Id : 92090613141 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange in the protocol order of following awards:
(A) Padma Vibhushan
(B) Padmashree
(C) Bharat Ratna
(D) Padma Bhushan
Choose the correct answer from the options given below :
(1 (D), B), (O), (A)
(2) (), (D), (B), (A)
(3 B D). @A), (©)
(4) (A (D), (B), (C)



Options :

92090651905. 1
92090651906. 2
92090651907. 3
92090651908. 4

Question Number : 77 Question Id : 92090613141 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafeed RIeRI 61 Uieield HH § aiyd Hifen

A ORI faym
B. U4l

C. MRA
D. TRl YN

419 fdu U f[dedl & 9 98 IR 199 Hifg

(1) (D), B, (C), (A)
2 (C), (D), (B), (A)
(3)  (B), (D), A), (C)
(4)  (A), (D), (B), (C)

Options :

92090651905. 1
92090651906. 2
92090651907. 3
92090651908. 4

Question Number : 78 Question Id : 92090613142 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following states in the increasing order of total population (according to
census 2011)

(A) Mizoram

(B)  Arunachal Pradesh

(C) Nagaland

(D) Meghalaya

(E) Manipur

Choose the correct answer from the options given below :

(1)  (A), (B), (C), (D), (E)
2) (@A), (B), (C), (E), (D)
(3)  (C), (A), (D), (B), (E)

(4 (A), D). (E), (C), (B)

Options :

92090651909. 1
92090651910. 2
92090651911. 3
92090651912. 4

Question Number : 78 Question Id : 92090613142 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFrafafed Isal &1 (2011 BT ST & SFER) Fd ST & 9ad §UHH H Jaiyd Sifer|
A feiRT
B. S{EUMEA UcH

C. ANICIUS
D. WYY
E. AR

4t fou e f[dsedi 7 9 9t I &1 Tg- Hiferd -

(1) (A), (B), (C), (D), (E)
(2)  (A), (B), (C), (E), (D)
(3)  (C). (A, (D), (B), (E)
(4 (A), (D), (E), (C), (B)

Options :

92090651909. 1
92090651910. 2
92090651911. 3
92090651912. 4

Question Number : 79 Question Id : 92090613143 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Vijaynagara kingdom Administration was divided in to different parts. Arrange

the following 1n correct sequence of Vijaynagara kingdom Administration (top to

bottom)

(A) Rajya/Mandalam
(B) Nadu

(C) Bhukti

(D) Grama

(E) Sthala

Choose the correct answer from the options given helow :

(1)
(2)
(3)
(4)

(B). (A), (C), (D)
(A), (B), (C), (D)
(A). (B), (D), (E)
(A), (B), (E), (D)

Options :

92090651913. 1
92090651914. 2
92090651915. 3
92090651916. 4

Question Number : 79 Question Id : 92090613143 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ISR wsg &1 YA &5 Ui | [Jyifoa fem m un) Aafafey fTeaar aursg &
U & 9l FH (SW 9 ) # aid S|

A, TMUSTH
B. Ig

Cc. Hfed

D. W

E. ®d

A9 fou e fasedi A A 9Et IR 1 994 Sifolw

(1) (B), (&), (O), (D)
(2) (@A), (B), (O), (D)
(3) (A, (B), (D), (E)
(4) (A, (B), (E), (D)

Options :

92090651913. 1
92090651914. 2
92090651915. 3
92090651916. 4

Question Number : 80 Question Id : 92090613144 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(GGiven below are two statements:

Statement | . Gender is a social construct and varies in every society.

Statement II  :  Sex 1s a biological construct, it is Universal though non-binary.

In the light of the above statements, choose the correct answer from the options given

below -

(1)

(2)

(3)

(4)

Both Statement [ and Statement Il are correct

Both Statement [ and Statement Il are incorrect

Statement [ is true but Statement 11 is ineorrect

Statement [ is false but Statement I is correct

Options :

92090651917. 1
92090651918. 2
92090651919. 3
92090651920. 4

Question Number : 80 Question Id : 92090613144 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A G Hy Ru e &:

®YA | o7 U WIS 39§ SR UdS AT | uRafdd giar g
HYA || ; Toh1 0P Sifdd &A1 8, 98 SIS g, g — TR-fesmeri g1
SURIE HYH & HTelles H, 1 U 71U faded! # F Wel St 767 Sifon

(1)
(2)
(3)
(4)

HUF| RN S T &

HYF | 3R 1| ST T &

HY | T 8, AP HY 11 3 B
HY | 3T ¢, AfhT HY 1| T B

Options :
92090651917. 1
92090651918. 2



92090651919. 3
92090651920. 4

Question Number : 81 Question Id : 92090613145 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements:

Statement | :  When children/ students with Special Educational Needs study in
general classrooms with their peers, the arrangement is called

‘exclusive education’.

Statement [I  :  In the ‘exculsive education’, the school make suitable adjusments
and modifications in its curriculum, teaching methods and

physical set-up.

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement [ and Statement I are correct
(2) Both Statement [ and Statement I are incorrect
(3) Statement [ is true but Statement I is incorrect
(4) Statement [ is false but Statement Il is correct

Options :

92090651921. 1
92090651922. 2
92090651923. 3
92090651924. 4

Question Number : 81 Question Id : 92090613145 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR JsERumUE:

HUYT | : e AR e are e /SEl &1 390 THEET B Ty GH BNl H g S
P HAWH Sl €, U8 AR Thifad Rier seadt 2

HUF Il : Upifad e ¥, [Jeey Iugew e §9101 § 3R 397 raTshH, e fafeai
3R ifs a1 # gRadd F1 8|

I DY & HTdid 1, A fSu 770 [deedl § 8 9gt It 994 Sifolg

(1) HYFIARNSAI9d 8

2  ®YF SR I IE A 8§

(3) YT TH g, AfpT B Il T §
(4) ®YT| MEG g, Afba B 1| g ©

Options :

92090651921. 1
92090651922. 2
92090651923. 3
92090651924. 4

Question Number : 82 Question Id : 92090613146 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I : The Rig Veda 1s the earliest text of the Indo-European languages.

Statement II  : The Rig Veda is written in Sanskrit, but also includes many

Munda and Dravidian words.

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement I and Statement Il are correct
(2) Both Statement [ and Statement Il are incorrect
(3) Statement [ is true but Statement 11 is incorrect
(4) Statement [ is false but Statement 11 is correct

Options :

92090651925. 1
92090651926. 2
92090651927. 3
92090651928. 4

Question Number : 82 Question Id : 92090613146 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I A dyA RRu MU &
HUF | : BAE $31- TG U BT UEHIH T4 E |

HUF || : BIAG Spd ¥ foran 41 8, fh 399, $s qel iR alafeas el & ot wftya fan
e |

JUWIH HYT & 3l |, A U U f9hedl § 9 92l Il 994 Sifelw

(1) SYFIARNSHITT S

(2) YT SR I EH T &

(3) DY A E AfpADY 1 T &
(4) DY MUY g, AT HUT 1 IT B



Options :

92090651925. 1
92090651926. 2
92090651927. 3
92090651928. 4

Question Number : 83 Question Id : 92090613147 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement [ : NEP-2020 aims to increase gross enrolment ratio in higher

education to 50 percent by 2035.

Statement I : To achieve above NEP suggests to open more Universities by

private philanthropy.

In the light of the above statements, choose the correct answer from the options given

below -

(1) Both Statement [ and Statement Il are true
(2) Both Statement [ and Statement Il are false
(3) Statement I is true but Statement 11 is false

(4) Statement 1 iz false but Statement I is true

Options :

92090651929. 1
92090651930. 2
92090651931. 3
92090651932. 4

Question Number : 83 Question Id : 92090613147 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e G RCACLRINES

DYT | : NEP — 2020 T IGGRT 2035 d 3= &I & # Fbd AHich 3a1d &1 50 Ufd=ra
d% g g |

HUF 1| : IUH B UId HA & o1 Nep ol dibusR gR1 #i¥e fAyfagredl &f Gid &1
LECECIES

JIWIad HYA & 3fdid H, A [EU 7 [deedi § 9 el IR &1 994 Bifeid

(1) SRS TI 8

(2) ®YFI SR SH A §

(3) Y| T™ g, b U 1| 3RH &
4) Y EIE, AP P ID &

Options :

92090651929. 1
92090651930. 2
92090651931. 3
92090651932. 4

Question Number : 84 Question Id : 92090613148 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement [ :  C.Rajgopalachari was the first recipient of Bharat Ratna.
Statement I1 :  Khan Abdul Ghaffar Khan is the first foreigner to recieve Bharat
Ratna.

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement [ and Statement Il are true
(2) Both Statement I and Statement Il are false
(3) Statement I is true but Statement 11 is false

(4) Statement I is false but Statement I is true

Options :

92090651933. 1
92090651934. 2
92090651935. 3
92090651936. 4

Question Number : 84 Question Id : 92090613148 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
R dsERumUE:

®HUF | Ul TSR] R Id U &3 aTd Uy afdd 4 |

Y1 T Hegd THPR Wi HRd Id U - ara gyd fagsih oafdd 4|
IR HYA & 3Tdie H, A iU U faeedi # I el IR &1 9y Hifoy

(1) HYFISRNESHI I8

(2)  HYI SR 1 SHT 3T 8

(3) DY FAE, AfbA DY I g
(4) DY TIE, APT DY T &

Options :



92090651933. 1
92090651934. 2
92090651935. 3
92090651936. 4

Question Number : 85 Question Id : 92090613149 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement [ :  Enviroment is defined as total planetary inheritance and the

totality of all resources including biotic elements.

Statement II  :  Sunlight is a biotic element.

In the hight of the above statements, choose the correct answer from the options given

below -

(1) Both Statement [ and Statement Il are true
(2) Both Statement [ and Statement II are false
(3) Statement 1 is true but Statement 11 is false

(4) Statement [ 1s false but Statement Il 1s true

Options :

92090651937. 1
92090651938. 2
92090651939. 3
92090651940. 4

Question Number : 85 Question Id : 92090613149 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



d= ey kU E:

HUF| : TG DI Yd YHSHY favred ok Sifde aal dfied gaw SaeEl &1 gofar & a0 3
gfeTee fabar i & |

S || . G B USRI U AfdP dd © |
IRIFd HYA & 3fdid H, A S0 70 fawedi 1§ 9 9el I &1 994 Sifelg

(1) HY IR NI TI 8

(2)  HYFI RN A B

(3) HYTITH g, AP HYT I I &
(4) HYT| HTA g, Afb HYT | I

Options :

92090651937. 1
92090651938. 2
92090651939. 3
92090651940. 4

Question Number : 86 Question Id : 92090613150 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fiven below are two statements:

Statement [ :  The government uses income and assets to determine the poverty
line.
Statement 11 :  The government uses other factors, such as access to education,

health care, drinking water and sanitation to determine the

poverty line.

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement [ and Statement Il are true
(2) Both Statement [ and Statement I are false
(3) Statement I is true but Statement 11 is false
(4) Statement [ is false but Statement II is true

Options :

92090651941. 1
92090651942. 2
92090651943. 3
92090651944. 4

Question Number : 86 Question Id : 92090613150 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



d= sy kg MU B
FYF | . WHR TRia! W@l &1 Fuiva 33 & o ma iR uREuRml &1 3w s3d 61

HYA || ; WHR TR @1 &1 Fuia 33 & U o SRS ol & R1en 9@ ugd, W 38-
W, U o 3R =51 1 IUdHT Fcl ¢

IIgd HYA & 3fdid H, A [GU 7 [decdl § 9 98l I &1 949+ Hifeig

(1) SR NS II 8

(2) YR ESH A §

(3) Y| ™ g, Afp U 1| A &
(4) DY Y g, AT HYT 1 TT

Options :

92090651941. 1
92090651942. 2
92090651943. 3
92090651944. 4

Question Number : 87 Question Id : 92090613151 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Read the following and choose the incorrect pair/pairs

(A)  Alluvial Soil — Northern plains of India
(B)  Black Soil — North west region of India
(C) Laterite Soil — Southern region of India

(D)  And Soil — Western region of India

Choose the correct answer from the options given below :

(1) (A) and (B) only
(2) (D) only

(3) (A) and (C) only
(4) All are Incorrect

Options :
92090651945. 1



92090651946. 2
92090651947. 3
92090651948. 4

Question Number : 87 Question Id : 92090613151 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafafed 1 ufgd iR TTera g/ &1 =g o |
A.  EIg Ul - YRd & IR AeH

B. Tl Hal— YR $I IR — UiEw &7

C. TexI3e el - YRd &1 cfémh &8x

D. b gl - YRd S Uiy &3

- f&u e fawedl o ¥ |l 3R &1 99F S :

(1) &HddA3fRB

(2) &HddD

(3) PaAdA 3RC

(4) $AABSRD
Options :

92090651945. 1
92090651946. 2
92090651947. 3
92090651948. 4

Question Number : 88 Question Id : 92090613152 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Pick the incorrect ones

(A) M. K .Gandhi is also known as Mahatma

(B) 5.C.Boseis also known as Netaji

(C) Rabindra Nath Tagore is also known as Acharyaji
(D) Sardar Patel is also known as Lauh Purush

(E)  Jai Prakash Narain is also kown as Lok Nayak

Choose the correct answer from the options given below :

(1) (C) only
(2) (A) and (B) only
(3) (B) only

(4) (D) only

Options :

92090651949. 1
92090651950. 2
92090651951. 3
92090651952. 4

Question Number : 88 Question Id : 92090613152 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3 91 ] UgdH Hifere|

A, T, i B A & A F o S S g |

B. UHH. S/ &!Jdmeh & A J it S SIran g |

C. M=y TR S el & 4w I 2+ S S € |

D. ¥ER Ued bl gYsy & A I i SH1 Sl ¢ |

E OO USRI ARMEY & dib-Add & M F i S SIrd1 g |
I feu v faeedt & 9 96l IR &1 9g4 Fifou

(1) aacC

(2) FdAAARB

(3) PduaB

(4 PdaD
Options :

92090651949. 1
92090651950. 2
92090651951. 3
92090651952 4

Question Number : 89 Question Id : 92090613153 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



During 19t and 20th century powerful newspaper emerged against the British
Administration under fearless journalists.

(A) The Hindu :- G.Subramanayam

(B) Kesari :- G.K.Gokhale

(C)  Amirt Bazar Patrika :- S. Kumar and Motilal Ghosh

(D) Swadesmitram :- Sisir Kumar Ghosh

(E) Banganivasi :- N.N.Sen

Choose the correct answer from the options given below :

(1)  (D)only

2)  (A) & (C) only
3  (B) & (E)only
(1) (D) & (A) only

Options :

92090651953. 1
92090651954. 2
92090651955. 3
92090651956. 4

Question Number : 89 Question Id : 92090613153 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1981 3R 204t At & IRMA e TEHRI & A1EA I FaH UE & 3vg Ived YRR
wEl 1 3ffaia g |

A fg=g - ot ggHUgH

B. HU{l-oll&. MEd

C. 3Wd ¥R UE®] - U, $AR AR Hidiar €91y
D. Wi - IRR $HAR 919

E & Farit - A 81

3 fau e fawedl # ¥ Wl IR &1 9uA Sifoie ;

(1) &ddD

(2) HAAA3NRC
(3) HAABSRE
(4) HadD AR A
Options :

92090651953. 1
92090651954. 2
92090651955. 3
92090651956. 4

Question Number : 90 Question Id : 92090613154 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Pick correct Capital-Nation combinations:

(A) Russia — Leningard
(B) Greece — Athens
(C) Pakistan — Kabul
(D) Srilanka — Dhaka
(E) U.5.A —New York

Choose the correct answer from the options given below :

(1) (B) and (E) only
(2)  (B)only
(3) (D) and (C) only
(4)  (A)only

Options :

92090651957. 1
92090651958. 2
92090651959. 3
92090651960. 4

Question Number : 90 Question Id : 92090613154 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ASYTHT - Y & Wl Al BT I Difor
A TH-dFATG

B. "Ww-udw

C. UfdH - oEd

D. il - aThl

E YUqu i
9 fou v fdeed] O 9§ TEt IR &1 994 Hifo ;

(1) &dd E3AR B
(2) dd B
(3) &dd C3RD
(4) Hdd A

Options :

92090651957. 1
92090651958. 2
92090651959. 3
92090651960. 4

Question Number : 91 Question Id : 92090613155 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Pick the incorrect ones:

(A) Caste is a biological construct.

(B) Gender is a social construct.

(C)  Class is an economic construct.

(D)  Patriarchy gives women the responsibility to head the family.

(E)  Sexuality 1s hereditary.

Choose the correct answer from the options given below :

(1)  (A)(D) and (E) only
(2)  (B), (C) and (D) only
(3)  (C), (D) and (E) only
(4)  (B) and (C) only

Options :

92090651961. 1
92090651962. 2
92090651963. 3
92090651964. 4

Question Number : 91 Question Id : 92090613155 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3G d1 B UgdH DI |

A. I U Sifdd FA17 |

B. foRT us a1 E |

c. afu® nfie =g |

D. gy aige ®1 URER & HRaa &1 IR UgH S ¢ |
E.  RThal dITd gl 2 |

3 f3u U faswsedl # @ Ul IR &1 99 Bifere ;

(1) SdadADSMRE
(2) ®ddB, C3RD
3) HAAC, DIARE
(4) FAABIARC
Options :

92090651961. 1
92090651962. 2
92090651963. 3
92090651964. 4

Question Number : 92 Question Id : 92090613156 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the correct combination:

(A) Pandit Vishwa Mohan Bhatt — Tabla
(B) Pandit Hariprasad Chaurasia — Flute
(C) Ustad Zakir Hussain — Sursingar

(D) Ustad Amzad Ali — Harmonium

(E) Pandit Ravi Shankar — Mridang

Choose the correct answer from the options given below :

(1) (B) only
(2) (A) and (B) only
(3) (C) and (D) only

(4) (D) only

Options :

92090651965. 1
92090651966. 2
92090651967. 3
92090651968. 4

Question Number : 92 Question Id : 92090613156 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e WIeH @1 UgdH Biforg

A, Ufsd fayHgT W - adan

B. URSd eRuwume dRRm- aigd

C. JG 3G 3(ell - SRATH

D. Ufgd A= — gm

A QT U fdspedl # ¥ Tl I &1 94 Sifeiu -

(1) dd B

(2) Hdd A3RB

(3) &dd C3RD

(4) dd D
Options :

92090651965. 1
92090651966. 2
92090651967. 3
92090651968. 4

Question Number : 93 Question Id : 92090613157 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



During the 1% world war there were two major alliances in world —Allied powers and
Central powers.

(A) Allied Powers — Britain, France and Russia

(B) Central Powers — Turkey, Germany and Austria

(C)  Allied Powers — Hungary, Russia and Britain

(D) Central Powers — Germany, Russia and U.5.A.

Choose the correct answer from the options given below :

(1) (A)only

(2)  (A)and (B) only
(3)  (B)and (C) only
(4)  (C) and (D) only

Options :

92090651969. 1
92090651970. 2
92090651971. 3
92090651972. 4

Question Number : 93 Question Id : 92090613157 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



v fayge & R fay & < uiw Sl 6 -dag faaal SR S el
A Udg wfddl - f6ed, wid ok &9

B. &g wfdadl — g, ol SR siffeeran

C. Ydg wfdadl - g7, ¥4 SR forew

D. Py Ul - o, T 3R FY IT ARSI

e 3T U faseul # ¥ Wel IR &1 99 Hifoiu :

(1) dd A,

(2) Had A, 3R B

(3) &dd B3R C

4 &4dd C 3RD
Options :

92090651969. 1
92090651970. 2
92090651971. 3
92090651972. 4

Question Number : 94 Question Id : 92090613158 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Mateh List T with List 11

Match the following with vear of their establishment

List I List 11
(A) International Bank of Reconstruction and () 1966
Development (IBRD)
(B) International Finanecial Corporation (IFC) (I) 1960
(C) International Development Asssociation (III) 1945
(IDA)
(D) International Centre for Settlement of (IV) 1956

Investment Disputes (ICSID)

Codes:

(1) (A)-ID), (B)-(IV), (C)-(1D), (D)-(I)
(2)  (A)-0V), (B)-(ID), (C)-(), (D)-(II)
(3)  A-D, (B)-1D, (O)-(ID, (D)-IV)
(4) (NI, (B)-(I), (C)-(D), (D)-(IV)

Options :

92090651973. 1
92090651974. 2
92090651975. 3
92090651976. 4

Question Number : 94 Question Id : 92090613158 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gl | & G1Y Gt 1 1 e iforg

- Tt -
(A)  SfRTPTE g 3R faeTd da (1BRD) O 1966
() SicRiPTg fawdita FAem (Fo) 1) 1960
(C) SHaRiPTY fassra W13 (IDA) (I11) 1945

(D) 3iaeipia faw faarg e &= (csip) (IV) 1965
A9 AU U faeped 9 9 |el IR &1 94 S

(1)  (A)-(IID), (B)-(IV), (C)-(II), (D)-(I)
(2)  (A)-AV), (B)-II), (C)-(), (D)-(II)
(3)  (A)-D, (B)-AD), (C)-(1ID), (D)-(IV)
(4)  (A)-(IID), (B)-(ID), (C)-(I), (D)-(IV)

Options :

92090651973. 1
92090651974. 2
92090651975. 3
92090651976. 4

Question Number : 95 Question Id : 92090613159 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List 11

List I List II
(A) Jallianwala Bagh Massacre (D 1931
(B) Quit India Movement (II) 1948
(C) Martyrdom of Bhagat Singh (IIT) 1919
(D) Assassination of Mahathma Gandhi (IV) 1942

Codes:

(1)  @)-IV), (B)-11D), (C)-AD), (D)-(D)
(2) (AL, (B)-(IV), (C)-(D, (D)-(II)
(3)  (A)-aD, (B)-(II), (C)-(D), (D)-AV)
4 (A)-O), (B)-(ID, (C)-(1IL), (D)-IV)

Options :
92090651977. 1



92090651978. 2
92090651979. 3
92090651980. 4

Question Number : 95 Question Id : 92090613159 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl | & Iy g 1 B B S

gl 1
(A) Sifciarar SFTgdBis (1) 1931
(B) HRd DI T=_leH () 1948
(C) WHIdRE &1 Wered (1 1919
(D) HETHT el &l g (V) 1942

41 fou U fadedi | | 981 IR 1 9899 ST

()  (A)-(IV), (B)-(1ID), (C)-(II), (D)-(I)
(2)  (A)-(ID, (B)-(IV), (C)~(I), (D)-(1T)
(3)  (A)-(D, (B)-(I11), (C)-(I), (D)-(IV)
(4)  (A)-(D, (B)-(ID), (C)-(I1I), (D)-(TV)

Options :

92090651977. 1
92090651978. 2
92090651979. 3
92090651980. 4

Question Number : 96 Question Id : 92090613160 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Mateh List I with List I1

List I List I
(A) liquid Diet (I) Buttermilk
(B) Standard Diet (II) Mashed Apple
(C) Soft Diet (IIT} Seasonal Khichdi
(D) Mechanical Soft Diet (IV) Egg Curry

Codes:

(1)  (A)-ID, (B)-(IV), (C)-(I1I), (D)-(I)
2 (A)-D, (B)-(IV), (C)-(II), (D)-(ILI)
(3 (A)-(D), (B)-(IV), (C)-(IID), (D)-(II)
(4)  (A)-(D), (B)-(IID), (C)-(IV), (D)-(II)

Options :

92090651981. 1
92090651982. 2
92090651983. 3
92090651984. 4

Question Number : 96 Question Id : 92090613160 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

LCEEIVE CllEalEGIEEI Y

gl Tt -
(A) TR 3MER () BT #{al)
(B) WF® 3HER (I 99 B I (AS THa)
(C) Hg AR iy HreH et
(D) Fifdd Hg 3MER (IV) SFSTHIA

414 feu v fasedi & | ¥l IR 1 99 Do

(1) (A)-(I1), (B)-(IV), (O)-(III), (D)-(I)
(2)  A)-(I), B-(IV), (O)-(1I), (D)-( I )
(3) (A1), B-(IV), (C)-(III), (D)-(II)
(4)  (A)-(1), (B)-(III), (O-(IV), (D)-(1I))

Options :
92090651981. 1



92090651982. 2
92090651983. 3
92090651984. 4

Question Number : 97 Question Id : 92090613161 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Mateh List I with List I1

List List 1T
(A) Prithviraj vs Muhamad Ghori (I) Battle of Plassey
(B) Lord Clive vs Shuja-ud-Daula (II) Battle of Buxar
(C) Babar vs Ibrahim Lodi (II1) Battle of Tarain

(D) Bnrntish vs Mir Qasim-Shuja-ud-Daula  (IV) Battle of Panipat

Codes:

(1) (A)-(II), (B)-(IV), (C)-(1D), (D)-(D)
(2)  (A)-ID, (B)-(), (C)-(IL), (D)-AV)
(3)  (A)-(ID), (B)-(D). (C)-(IV), (D)-(II)
(1) (A)-D), (B)-(D), (C)-1V), (D)-(L)

Options :

92090651985. 1
92090651986. 2
92090651987. 3
92090651988. 4

Question Number : 97 Question Id : 92090613161 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(A) JERM -SIH g TR () WRIFTgs

(B) WIS Halgd §H RRIE-35- (II) THW F1IS
arell

(C) IR g1 Seifed el () TR BTG

() fafcw s @R F1R”W ge1- (v) UFud &1 g=
Ig-ara

e feu e fasedi 7 9§ 9l I &1 994 Sifoe

(1)  (A)-(II), B)-(IV), (O)-(1I), (D)-(1)
(2)  (A)-(II), (B)-(I), (O)-(1II), (D)-IV)
(3)  (A)-(II), B)-(1), (O)-(1IV), (D)-(1I)
(4)  (A)-(I), (B)-(II), (O-(1V), (D)-(I1I)

Options :

92090651985. 1
92090651986. 2
92090651987. 3
92090651988. 4

Question Number : 98 Question Id : 92090613162 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List 11
List 1

Indus valley civilization Site

(A) Harappa
(B) Kalibanga
(C) Lothal

(D) Banawali

Codes:

(1) (A)-(ID, (B)-(IV), (C)-(I), (D)-(ILT)
(2) Q- (B)-(D), (O)-(ID, (D)-AV)
(3 (A)-IV), (B)-(D), (C)-(I), (D)-(ID
(1) (A-D, (B)-1D), (C)-(AV), (D)-(ID

Options :

92090651989. 1
92090651990. 2
92090651991. 3
92090651992. 4

Question Number : 98 Question Id : 92090613162 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(A) eo™l

(B) hIciaE

(C) dyd

(D) &rdcit

Tt -1l C14 fafagt @1 &

(I 2875-1240 BCE

() 2655-1570 BCE
(II1) 3508-1905 BCE

(IV) 2560-1250 BCE

4 fou v fawedi | | 981 IR 1 9894 ST

(1) A-(II), (B)-(IV), (C)-(1), (D)-(1IT)
(2)  (A)-(II), B)-(1), (C)-(1I), (D)-(1V)
(3)  (AW-(IV), (B)-(I), (C)-(III), (D)-(1I)
4)  @-(1), (B)-(1I), (O)-(1V), (D)-( 1)

Options :

Range of C14 dates
@ 2875-1240 BCE
1) 2655-1570 BCE
(I1T) 3508-1905 BCE
(IV) 2560-1250 BCE



92090651989. 1
92090651990. 2
92090651991. 3
92090651992. 4

Question Number : 99 Question Id : 92090613163 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Matech List I with List I

List 1 List I
(A) Parakram Diwas (D) 20 August
(B) Ekta Diwas (II) 23 January
(C) Sadbhawna Diwas (III) 30 January
(D) Shaheed Diwas (IV) 31 October

Codes:

(1) (A)-ID), (B)-(D), (C)-(IV), (D)-(IIT)
(2)  (A)-I), B)-(IV), (C)-(I), (D)-(II)
(3)  (A)-(IID), (B)-(D, (C)-(II), (D)-(IV)
(4)  (A)-IV), B)-ID, (O)-(ID), (D)-I)

Options :

92090651993. 1
92090651994. 2
92090651995. 3
92090651996. 4

Question Number : 99 Question Id : 92090613163 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



It | & ary gt || &1 B i

- LGl
(A) WRIHH fead () 20 3T
(B) Uehdl faay () 23 SHad
(C) TgHIa faayd (ny 30 SE
(D) Welq faad (IV) 31 3R

4 fau ¢ fawedi A § 9gl IR &1 994 Sifele:

1. (A)-(II), (B)-(I), (O)-(1V), (D)-( I )
2. (A)-(ID), (B)-(IV), (O)-(1), (D)-(11I)
3. (A)-(II), (B)-(1), (O-(II), M)-(1IV)
4. (A)-(1IV), (B)-(II), (C)-(LI), (D)-(I)

Options :

92090651993. 1
92090651994. 2
92090651995. 3
92090651996. 4

Question Number : 100 Question Id : 92090613164 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Mateh List I with List I1

List List 11
(A) Meteors and Meteoriter are also (I) Miner planets
called
(B) Astroids are also known as (II) Comets

(C) The large special shaped galaxy is (III) Shooting star
called

(D) These are made up of frozen gases (IV) The milky way
and are also called

Codes:

(1)  (A)-(ID), (B)-(IV), (C)-(D), (D)-(IT)
(2)  (A)-(ID, (B)-(D). (C)-(IV), (D)-(IT)
(3)  (A)-(D), (B)-(I), (C)-(I1D), (D)-AV)
(4) (A, (B)-AV), (O)-aD), (D)-(D

Options :

92090651997. 1
92090651998. 2
92090651999. 3
92090652000. 4

Question Number : 100 Question Id : 92090613164 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4 fou e fdeedi A |9 Hel I &1 994 Bifvlg:

(1)
(2)
(3)
(4)

(A)-(III), (B)-(IV), (O)-(1), (D)-(1I)
(A)-(1II), (B)-(I), (C)-(IV), (D)-(1I)
(A)-(1), (B)-(11), (O)-(IIL), D)-(IV)
(A)-(III), (B)-(IV), (C)-(1I), (D)-(I)

Options :

92090651997. 1
92090651998. 2
92090651999. 3
92090652000. 4



